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1 |wap 6ypaa KK S| 10 20| 15| 20 5 200 20 15| 20| 150 2700 405,000 |1kr yyrrai

2 |3ncan unxsp Hr 151 351 30| 201 30| 1S 30, 20| 20| 20| 235 4000 940,000 |50kr yyrrain

3 |macno Kr 4 171 20| 20| 20 5 20 20| 20| 20| 166 6500| 1,079,000 | 20kr xaip

4 | yaraan 6ypaa Kr Il siarTal 25 781 10 75| 75| 75| 75| 575 3400] 1,955,000 |25kr yyrrain

5 |lypsamkuu bynaa Kr 5| 16| 16/ 12| 16 - 16 16| 16/ 16| 133] 4500 598,500 | 1xr yyrraid

6 |y33m Kr 5 8 16/ 16| 16 4 16| 16 8 8| 113 8600 971,800 |1xr casanraaTai
7 [werary w 3112112 12 12 3 12l 121, 22 . AS] 105 400 42,000 |S0rp capanraaran
8 |Kawa Hr 4| 32| 32| 16| 32 4 32| 32| 16| 32| 232 5000] 1,160,000 |1xr casanraatai
9 |ypramnbix TocC W JE=1el 14) 1210 1% 16| 16| 12| 16| 115 5500 632,500 |1n casanraartai
10 |xyypai uan w 1 1 1 1 1 1 1 1 8| 19000 152,000 |Naketrair SOw
11 |aasc w 3] 14| 15| 16| 16 3 15| 16| 14| 16| 128] 2200 281,600 |1xr vogmyyncan pasc
12 [roimoH Kr 8| 16/ 16| 16| 16 8 16| 16| 16| 16| 144 3000 432,000 |5Skr casnraarait
13 |a33g rypun Hr 50| 70{ 70 70| 70| 50 120 120| 120 120 860 2200| 1,892,000 |SO«r yyrrai

14 |WnareT roimMoH Kr 15| 30] 30} 15| 30| 15 30| 30/ 15| 30| 240| 2000 480,000 |250 rp caBanraarta
15 |byxan ypuiAH rypun  |yyT 1 1 1 1 1 1 1 1 8 4500 36,000 |Skr casnraarai
16 |naspbiH Hasy yyT 2 2 2 2 2 2 2 2 16 1500 24,000 |yyr

17 |anum Kr 14| 28| 28| 28| 28| 14 28| 28| 28| 28| 252 6500| 1,638,000 |Monw

18 |manpapuH Hr 14| 28| 28| 28| 28| 28 28| 28| 28| 28| 266 8000| 2,128,000 |Opoc

19 |neyeHsb r 15| 30f 30| 30f 30| 15 301 30| 30| 30| 270| 12000|{ 3,240,000 |xr

ayH 18,087,400




Tanx, Hapuitn Boos /floTooasiH yiinasap/
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1|ranx w 25| 100 100 75| 200| 25 200| 200| 150| 200/ 1275 2500| 3,187,500 |850rp Tanx
2|rypunax 6008 Kr 20| 100| 120/ 80| 120/ 20 100/ 100| 80| 100{ 760 5500( 4,180,000 |1kr yyrrain
Ay 7,367,500
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Ne | marepuansiv H3p S ) L R - L o| =| ~| % .m. aﬁ”.wn: Byra yn3 TonohRoBnanT
1|WnHrau cyy n 18| 46| 75| 78] 53| 25 75| 88| 64| 68/ 590 S000| 2,950,000 |auTp
2|Aapy Kr 16| 16 8| 16 16| 16 8| 16/ 112| 8000 896,000 |kr
AyH 3,846,000
Max /foTooabik yinasapuitk/
m
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1|Max /yxap/ Kr 100 90| 70] 90| 30 90| 90| 90| 90| 740| 10000 7400000
2|Max /xomb/ ke | 85| 50| 50 50 . sol so| so| so| 435 8s00] 3697500 o
AyH 11,097,500




XYHCHUA HOTOO /AOTOOABIH YIANABIPUAH/

m
el el all all &l Bl sl ol ol Bl el sl m. Har TEXHUKMIH
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Ne | Mmarepuansid Hap m o W) | I R ol alal als 3 W mdv“.ws: byra yus IR
1|Temc Kr 38| 130| 130 80| 130/ 30 130| 130{ 130| 130| 1058 1800 1904400 =
2|Nlyysan Kr 10| 25| 25| 20 25| 10 29| 251 25| 25| 218 2500 537500 IX OpHBI XBpCeHA
3| MarmuH Kr 10| 25| 25| 20| 25| 10 291 251 25| 25| 215 2500 537500 YPryyncaH MOHron
4|banyaa Kr 12| 40| 40| 20| 40| 10 40| 40| 40| 40| 322 2500 805000  xyHcHWi Horoo/Kr/
5|CoHruHo Kr 1 1 1 1 1 1 1 1 1 9 3000 27000
AYH 3,811,400
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1| Kumc Hr 10 40{ 40| 40| 40| 10 50 50| 28| 50| 358 7000{ 2,506,000 |3apnar
AYH 2,506,000

46,715,800



